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14. The Fourteenth Finance commission was guided by

the terms of reference and the approach of the

previous finance commissions. Explain it. What are

the Terms of Reference that shall be taken into

consideration by the Fifteenth Finance commission

while making the recommendations?
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Instructions for Candidates

Write your Roll No. on the top immediately on receipt
of this question paper.

Answers may be written either in English or Hindi;
but the same medium should be used throughout the
p ap er.
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SECTION - A
All Questions are compulsory and

carry l0 marks each.

qrt rra aM I dqr yd6 yt4 to s6 6r { t

An economy with the budget components (in Crores)

specified as follows :

Tax Revenue

Gross Tax Revenue = Rs. 1919009

Corporate Tax = Rs.571202

Wealth Tax : Rs. 53

NCCD transferred to the NCCF/NDRF = Rs. 35 15

State's Share = Rs. 673006

Non-Tax Revenue = Rs. 192745

Non-Debt Receipts = Rs. 1 15678

Debt Receipts =Rs. 586971

Disinvestment Receipts = Rs. 100045

Dividends and Profits =Rs.91361

Calculate the following :

(a) Revenue Receipts

2088

SECTION _ C

Attenxpt any Ote question, which carries 15 marks.

Affi v6 yt;r 6t oit( ?, d ts ai#' ar * r

12. Sustainable development requires every nation to

prioritize their targets and carefully implement various

schemes or programs in accordance with local

challenges, capacities and available resources. Explain

this statement.

qa( A-srs + sffi( r+6' tsr d sc+ as sil clcB6'-dr

aqr rqrftq gclM, effdr iTcrr sctrdq E{nr+ + cRqs t
EE-q+d-irqr 6r4-frq + {rqqrffffu aqadfr s+rrfii

* r gs qrr-q 6r fr+fi qt I

13. Although India as a whole will enjoy the "Demographic

Dividends" phase, some states will start transitioning

to an ageing society by 2030s. Our Policy makers

need to prepare themselves for ageing. Explain it in
detail.
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(b) Explain the role of the FRBM (Fiscal Responsibility

and Budget Management) Act, 2003.

ffq 6t E+qt q-t-:

(er) olc fl ter qnd $r Itar EnqR sr*<tr t ? flr B{rc

qrqR grrfdl i enc @r ffifl+ i ? (

(E) FRBM (A-e< racaE-< qe {ff n-firt) qrT{, 2oo3

* TR-6r q1 6|q< oi r

10. Explain the main highlights of the Budget for 2019-

2020.

2ore-2020 S fts {ft + Wq G-Em qr fr}q<

eir

I L What do you understand by the term SDGs and explain

India's progress towards the SDGs?

(c) Total Receipts (3,3,4)

Ggo cc-c atqqq (c-ts {) i um \r+. i[riq{e11 51 hq

-.\(nq 5 :-

r[..t sttFl

lF5lil tfi'{ SFFI = Rs. 1919009

ftrrc 6t = Rs. 571202

scft fi = Rs.63

NCCD 6] ERrd-€r ftqr ?rqr NCCFA{DR-F = Rs.35t5

Irq sr lB( = Rs.673006

tr-m enrq = Rs. 192745

*t a"r yrk = Rs. il5678

aq 9lfr = Rs. 586971

frffi{ nfr = Rs. 100045

dNr{r \'.r aFr = Rs.9t36l

ftq q,r rrqcr 6t:

(ir) arn ntu
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(b) Capital Receipts
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(e) tff vrRr

+a nrfr(s)

As per the given data of Balance of Payments (US$

Million)

Trade Balance = (-)S 147609

Invisibles (Net) = 51 1 t, , ,
Goods and Services Balance = (-)974544

Income = (_)$23028

External Assistance (Net; = 5163,

External Commercial Borrowing (Net) : $11777

Short-term Credit : (r$5044

Banking Capital (Net) = $25449

Foreign Investment (Net) = $26386

Other Flows : (-)$ 1 08 1 3

(a) Calculate Current Account Balance

(b) Calculate Capital Account Balance

irdirl E3II 1451495 +fi i[c+ (c'+s. q1 qp1 aff canr I
qfu irrieqert n furrR 3FFr rrqr 3 lrFrdr 61 rt +rTdrr

t<r I r w erla { qqr sFr {6,kr * ? fr+{-{ 6i I

Give an overall view of the Indian Economy in year

of 2018 and 2019.

2ors Vrr 2or9 + s{ + qrftq s{-q-d(qr 61 qryt G-*u t r

What are the major sleps taken by India regarding

Climate Change?

u-a<q vRa-da + {'du i qr(( ERr qr !(q 6-fi T6rg rq

*?

What are th€ current trends in inflation? Also explain

the drivers of inflation.

gfldrR n efqrr lgft wr * ? Inrdfr d cqrro cr rff
( a+orqi,

(a) Which countries are the major trade partners of
India? What do you understand by Trade

facilitation?

(
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(c) Define the term Balance ofTrade (3,3,4)

(

9. Explain the following :

P.T,O.
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yq-il-{ q-g-d-{ (uss frAq-q) qiT Bfo-sr frqr rrqr I
qql( TEil{ = (-) $ u76oe

u-g{c(g-d) -gno3r3

sS vd +qr {-E-dr = (-) S zasaa

irs=(-)$zsozs
qrq {Er{dr ({.e) = S tosz

qra qr{{rR-6. utm (1a) = $ ru77

rrq-orftc sr€ = (-) $ soao

ffi{r tff ({'a) = S esaae

ftefr ffnrr (Ea) $ zeseo

irq 1616 = (-) $ lool3

(er) a-drm &e yron d rrunr 6t r

(q) {S fu Sr.r+ d rrqqr 6i r

(q) qrqn Yrrdr;r uq d qftrp-a of r
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SECTION - B

Axempt any Fi,te questions,

which carry 8 marks each.

Explain the structure of the revenue budget and the

capital budget of central government.What is the

difference between plan and non-plan expenditure?

*ftq tcon * srrrq qwe aw {* ce-r + {i=fiT 6r E+fi
qt r ffifur ilr +{-ffikd qq * &q srct wr * i

What is the union budget? How the union budget is

prepared. How it is presented in the parliament.

Analyze the implementation of the govemment budget?

q*q qqe wr i ? qftc qwe *t q-rrqr Erar * ? (f{ q

rt *t rya B'qr vnn + ? [.+lt qs-e * am q"'<t qr

Flq< dfrit r

Growing MSMEs not only create profits for their

promoters but also contribute to job creation and

productivity in the economy. Do you agree with
this statement. Explain.
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